Istruzioni Schermo

Schermo Mini Pro

1<

T

X vite M6x20

x Distanziale metallico
% Supporto Laterale

x Schermo

¥ Gommino incavo

x Distanziale metallico
x Dado Chiuso M6

x Rondelle spezzate @8mm

x Vite M8x50

x Vite M6x10

Dado Chiuso M6

x Rondella autobloccante @6mm

-h-hhl\)m,p_hh_.r\).hh

CFRSTIOOTMMOOmE

http://www.puntomoto.com

Pagina 1


http://www.puntomoto.com/

	Istruzioni Schermo

